
Service Parts Catalog Contents

PageSet 6

Body

340 Stepwells & Handrails

HANDRAILS

HANDLE, GRAB, TRIANGULAR

_____________________________________________________________________________ 1

HANDPOLES/ GRABRAILS

_____________________________________________________________________________ 2

30' UNIT

_____________________________________________________________________________ 3

30' UNIT WITH 60 INCH LUGGAGE RACK

_____________________________________________________________________________ 4

35' UNIT

_____________________________________________________________________________ 5

KIT, HANDRAIL

CAB

WHITE

_____________________________________________________________________________ 6

YELLOW OR STAINLESS STEEL

With: FEATURE 06152-09, -10, -11, -12
_____________________________________________________________________________ 7

SALOON LOWER

WHITE

_____________________________________________________________________________ 8

SALOON UPPER

WHITE

With: FEATURE 06152-09, -10, -11, -12
_____________________________________________________________________________ 9

SALOON, LOWER

YELLOW OR STAINLESS STEEL

With: FEATURE 06152-09, -11
____________________________________________________________________________ 10

KIT, PARTITION WITH CENTER DOOR

With: FEATURE 06152-09, -11
____________________________________________________________________________ 11

LIFT

RAMP, RICON

FOLD OVER, ELECTRICAL  HARNESS AND COMPONENTS

With: FEATURE 31062-02
____________________________________________________________________________ 12

FOLD OVER, HYDRAULIC COMPONENTS AND FITTINGS

With: FEATURE 31062-02
____________________________________________________________________________ 13



Service Parts Catalog Contents

PageSet 6

With: FEATURE 31062-02
____________________________________________________________________________ 14

FOLD OVER, ROTARY ACTUATOR ASSY

With: FEATURE 31062-02
____________________________________________________________________________ 15

FOLD OVER, WHEELCHAIR

With: FEATURE 31062-02
____________________________________________________________________________ 16

FRONT DOOR

With: FEATURE 31062-01
____________________________________________________________________________ 17

FRONT DOOR, FINISH KIT

With: FEATURE 31062-01
____________________________________________________________________________ 18

FOLD OVER, RAMP ASSEMBLY



Models: L4RE
HANDRAILS
HANDLE, GRAB, TRIANGULAR

Service Parts Catalog

Key PartNumber Qty Description Comment

340 Stepwells & Handrails
Page Set PS0003734

1
To order, contact your Blue Bird Authorized Dealer

PageSet Number



Models: L4RE
HANDRAILS
HANDLE, GRAB, TRIANGULAR

Service Parts Catalog

Key PartNumber Qty Description Comment

340 Stepwells & Handrails
Page Set PS0003734

1 9029137 TO,HANDLE,GRAB SH-4,WHITE"

1
To order, contact your Blue Bird Authorized Dealer

PageSet Number



Models: L4RE
HANDRAILS
HANDPOLES/ GRABRAILS

Service Parts Catalog

Key PartNumber Qty Description Comment

340 Stepwells & Handrails
Page Set PS0003741

NI 4760103 HANDRAIL,DASH,L4RE

NI 4760104 HANDRAIL,DOOR,DRIVERS

NI 4760105 HANDRAIL,PARTITION,DRVR,W/PANEL

NI 4760157 HANDRAIL,FOOT,PLATE CENTRAL

NI 4760158 HANDRAIL,FOOT,PLATE OFFSET

NI 4760123 HANDPOLE GRB CENTER LH 35 PR

NI 4760119 HANDPOLE GRB CENTER RH 35 PR

NI 4760121 HANDPOLE GRB CENTRE EXIT DOOR WIDE

NI 4760122 HANDPOLE GRB FRONT LH 35 PR

NI 4760118 HANDPOLE GRB FRONT RH 35 PR

NI 4760124 HANDPOLE GRB REAR LH 35 PR

NI 4760120 HANDPOLE GRB REAR RH PR

NI 4760154 HANDRAIL,PARTITION,CNTR DR,TOP

NI 4760160 PANEL,PARTITION,STEP,L4RE

NI 4760156 HANDPOLE PAR CENTRE DOOR GLASS

NI 4760155 HANDPOLE PAR CENTRE DOOR PANEL

NI 4760159 HANDPOLE SIDE PLATE

NI 4760111 HANDPOLE STN BARRIER AS

NI 4760114 HANDPOLE STN FORWARD AS 6468

NI 4760108 HANDRAIL,STANCHION,FRONT

NI 4760110 HANDPOLE STN PERIMETER AS 6468

NI 4760115 HANDRAIL,WHEELHOUSING,SEAT

NI 4760106 HANDRAIL,WHEELHOUSING,FRONT,LH,L4RE

2
To order, contact your Blue Bird Authorized Dealer

PageSet Number



Models: L4RE
HANDRAILS
HANDPOLES/ GRABRAILS

Service Parts Catalog

Key PartNumber Qty Description Comment

340 Stepwells & Handrails
Page Set PS0003741

NI 4760107 HANDRAIL,WHEELHOUSING,FRONT,RH,L4RE

NI 4760598 HANDRAIL,DOOR,DRIVERS,W/CASH VAULT,W/O

NI 4760574 HANDRAIL,DOOR,DRIVERS,W/CASH VAULT

NI 4760676 HANDPOLE,L4RE 30FT,PANEL PART CTR DR

NI 4760675 HANDPOLE,L4RE 30FT,SCREEN PART CTR DR

NI 4760670 BRACE,HANDRAIL,FRT TOP FC,RH,L4RE

NI 4760669 BRACE,HANDRAIL,FRT TOP FC,LH,L4RE

NI 4760668 HANDPOLE,L4RE,FS CS,STNCH BAR

NI 4760672 HANDRAIL,LOWER,FRT LH,L4RE

NI 4760673 HANDPOLE,L4RE,GRAB RL FRT,RH

NI 4760666 HANDPOLE,L4RE,STNCH RR SALOON

2
To order, contact your Blue Bird Authorized Dealer

PageSet Number



Models: L4RE
HANDRAILS
HANDPOLES/ GRABRAILS
30' UNIT

Service Parts Catalog

Key PartNumber Qty Description Comment

340 Stepwells & Handrails
Page Set PS0003731

3
To order, contact your Blue Bird Authorized Dealer

PageSet Number



Models: L4RE
HANDRAILS
HANDPOLES/ GRABRAILS
30' UNIT

Service Parts Catalog

Key PartNumber Qty Description Comment

340 Stepwells & Handrails
Page Set PS0003731

1 4760667 HANDRAIL,DOOR,CENTER,PARTITION,L4RE"

2 4760113 HANDRAIL,PARTITION,CTR STEP

3 4760597 DIAGRAM,HANDPOLE,PARTITION,CTR STEP,

4 4760151 FITTING,HANDRAIL,CEILING CUP,PV-68

5 4760387 PLATE CLAMP HANDPOLE STANCHION

6 4760573 WASHER,FLAT,6MM,YL ZN DICH

7 4760572 WASHER,LOCK,SPLIT RING,6MM,MED,YL ZN 

3
To order, contact your Blue Bird Authorized Dealer

PageSet Number



Models: L4RE
HANDRAILS
HANDPOLES/ GRABRAILS
30' UNIT WITH 60 INCH LUGGAGE RACK

Service Parts Catalog

Key PartNumber Qty Description Comment

340 Stepwells & Handrails
Page Set PS0003733

4
To order, contact your Blue Bird Authorized Dealer

PageSet Number



Models: L4RE
HANDRAILS
HANDPOLES/ GRABRAILS
30' UNIT WITH 60 INCH LUGGAGE RACK

Service Parts Catalog

Key PartNumber Qty Description Comment

340 Stepwells & Handrails
Page Set PS0003733

1 4760667 HANDRAIL,DOOR,CENTER,PARTITION,L4RE"

2 4760113 HANDRAIL,PARTITION,CTR STEP

3 4760671 HANDPOLE,L4RE,STNCH CTR STEP,LH

4 4760677 2 HANDRAIL,FTG,SHORT NECK TEE,PV-2

5 4760570 DIAGRAM,LUGGAGE,RACK,L4RE,60 IN

6 4760151 FITTING,HANDRAIL,CEILING CUP,PV-68

7 4760387 PLATE CLAMP HANDPOLE STANCHION

8 4760573 WASHER,FLAT,6MM,YL ZN DICH

9 4760572 WASHER,LOCK,SPLIT RING,6MM,MED,YL ZN 

4
To order, contact your Blue Bird Authorized Dealer

PageSet Number



Models: L4RE
HANDRAILS
HANDPOLES/ GRABRAILS
35' UNIT

Service Parts Catalog

Key PartNumber Qty Description Comment

340 Stepwells & Handrails
Page Set PS0003732

5
To order, contact your Blue Bird Authorized Dealer

PageSet Number



Models: L4RE
HANDRAILS
HANDPOLES/ GRABRAILS
35' UNIT

Service Parts Catalog

Key PartNumber Qty Description Comment

340 Stepwells & Handrails
Page Set PS0003732

1 4760112 HANDPOLE PAR CENTRE DOOR

2 4760113 HANDRAIL,PARTITION,CTR STEP

3 4760597 DIAGRAM,HANDPOLE,PARTITION,CTR STEP,

5
To order, contact your Blue Bird Authorized Dealer

PageSet Number



Models: L4RE
HANDRAILS
KIT, HANDRAIL
CAB
WHITE

Service Parts Catalog

Key PartNumber Qty Description Comment

340 Stepwells & Handrails
Page Set PS0003737

6
To order, contact your Blue Bird Authorized Dealer

PageSet Number



Models: L4RE
HANDRAILS
KIT, HANDRAIL
CAB
WHITE

Service Parts Catalog

Key PartNumber Qty Description Comment

340 Stepwells & Handrails
Page Set PS0003737

1 4760103 HANDRAIL,DASH,L4RE

2 4760149 FITTING,HANDRAIL,LONG NECK TEE,PV-3

3 4760105 HANDRAIL,PARTITION,DRVR,W/PANEL WITH PANEL. WITH FEATURE 
06151-04 OR 06151-05

3 4760568 HANDRAIL,PARTITION,DRVR, W/O PANEL, L4RE WITHOUT PANEL. WITHOUT 
FEATURE 06151-04 OR 06151-05

4 4760108 HANDRAIL,STANCHION,FRONT

5 4760107 HANDRAIL,WHEELHOUSING,FRONT,RH,L4RE

6 4760109 HANDRAIL,FITTING,CUP,BT,L4RE

7 4760148 FITTING,HANDRAIL,FLOOR CUP,PV-29,YELLOW

8 4760115 HANDRAIL,WHEELHOUSING,SEAT

9 4760151 FITTING,HANDRAIL,CEILING CUP,PV-68

10 4760387 PLATE CLAMP HANDPOLE STANCHION

11 4760571 SCREW,CAP,M6X16,SKT ZP

12 4760573 WASHER,FLAT,6MM,YL ZN DICH

13 4760572 WASHER,LOCK,SPLIT RING,6MM,MED,YL ZN 

14 4760105 HANDRAIL,PARTITION,DRVR,W/PANEL WITH PANEL. WITH FEATURE 
06151-04 OR 06151-05

14 4760568 HANDRAIL,PARTITION,DRVR, W/O PANEL, L4RE WITHOUT PANEL. WITHOUT 
FEATURE 06151-04 OR 06151-05

15 4760106 HANDRAIL,WHEELHOUSING,FRONT,LH,L4RE

6
To order, contact your Blue Bird Authorized Dealer

PageSet Number



Models: L4RE
HANDRAILS
KIT, HANDRAIL
CAB
YELLOW OR STAINLESS STEEL

With: FEATURE 06152-09, -10, -11, -12

Service Parts Catalog

Key PartNumber Qty Description Comment

340 Stepwells & Handrails
Page Set PS0003738

7
To order, contact your Blue Bird Authorized Dealer

PageSet Number



Models: L4RE
HANDRAILS
KIT, HANDRAIL
CAB
YELLOW OR STAINLESS STEEL

With: FEATURE 06152-09, -10, -11, -12

Service Parts Catalog

Key PartNumber Qty Description Comment

340 Stepwells & Handrails
Page Set PS0003738

1 4760103 HANDRAIL,DASH,L4RE

1 0069093 HANDRAIL,DASH,SS L4RE

2 4760149 FITTING,HANDRAIL,LONG NECK TEE,PV-3

2 0069094 HANDRAIL,FITTING,LONG NECK TEE,PV-3SF

3 4760104 HANDRAIL,DOOR,DRIVERS FEATURE 06152-09, 10 YELLOW,
WITH FEATURE 06151-06 
WITHOUT 30909-01

3 4760574 HANDRAIL,DOOR,DRIVERS,W/CASH VAULT FEATURE 06152-09, 10 YELLOW,
WITH CASH VAULT. WITH 
FEATURE 06151-06 WITH 30909
-01

3 4760598 HANDRAIL,DOOR,DRIVERS,W/CASH VAULT,W/O FEATURE 06152-09, 10 YELLOW,
WITHOUT FEATURE 06151-06 
WITH 30909-01

3 0069099 HANDRAIL,DOOR,DRIVERS,SS FEATURE 06152-11, 12, 
STAINLESS STEEL, WITH 
FEATURE 06151-06 WITHOUT 
30909-01

3 0069100 HANDRAIL,DOOR,DRIVERS,W/CASH VAULT,SS FEATURE 06152-11, 12, 
STAINLESS STEEL, WITH CASH 
VAULT. WITH FEATURE 06151-06
WITH 30909-01

3 0069177 HANDRAIL,DRIVER,DOOR,W/CASH VAULT,W/O FEATURE 06152-11, 12, 
STAINLESS STEEL, WITHOUT 
FEATURE 06151-06 WITH 30909
-01

4 4760108 HANDRAIL,STANCHION,FRONT

4 0096095 BRACKET ASSY,MTG,COMPRESSOR,REAR, L4RE

5 4760107 HANDRAIL,WHEELHOUSING,FRONT,RH,L4RE

5 0069091 HANDRAIL,WHEELHOUSING,FRONT,RH SS

6 4760109 HANDRAIL,FITTING,CUP,BT,L4RE

6 0069078 HANDRAIL,FITTING,CUP BT,SS

7 4760148 FITTING,HANDRAIL,FLOOR CUP,PV-29,YELLOW

7
To order, contact your Blue Bird Authorized Dealer

PageSet Number



Models: L4RE
HANDRAILS
KIT, HANDRAIL
CAB
YELLOW OR STAINLESS STEEL

With: FEATURE 06152-09, -10, -11, -12

Service Parts Catalog

Key PartNumber Qty Description Comment

340 Stepwells & Handrails
Page Set PS0003738

7 0069096 HANDRAIL,FITTING,FLOOR CUP,PV-29SF

8 4760115 HANDRAIL,WHEELHOUSING,SEAT

8 0069097 HANDRAIL,WHEELHOUSING,SEAT SS

9 4760151 FITTING,HANDRAIL,CEILING CUP,PV-68

9 0069098 HANDRAIL,FITTING,CEILING CUP,PV-68SF

10 4760387 PLATE CLAMP HANDPOLE STANCHION

10 4760387 PLATE CLAMP HANDPOLE STANCHION

11 4760571 SCREW,CAP,M6X16,SKT ZP

11 4760571 SCREW,CAP,M6X16,SKT ZP

12 4760573 WASHER,FLAT,6MM,YL ZN DICH

12 4760573 WASHER,FLAT,6MM,YL ZN DICH

13 4760572 WASHER,LOCK,SPLIT RING,6MM,MED,YL ZN 

13 4760572 WASHER,LOCK,SPLIT RING,6MM,MED,YL ZN 

14 4760105 HANDRAIL,PARTITION,DRVR,W/PANEL FEATURE 06152-09, 10 YELLOW,
WITH PANEL. WITH FEATURE 
06151-04 OR 06151-05

14 4760568 HANDRAIL,PARTITION,DRVR, W/O PANEL, L4RE FEATURE 06152-09, 10 YELLOW,
WITHOUT PANEL. WITHOUT 
FEATURE 06151-04 OR 06151-05

14 0069080 HANDRAIL,PARTITION,DRIVERS SS FEATURE 06152-11, 12, 
STAINLESS STEEL, WITH PANEL.
WITH FEATURE 06151-04 OR 
06151-05

14 0069077 HANDRAIL,PARTITION,DRVR, W/O PANEL,SS, FEATURE 06152-11, 12, 
STAINLESS STEEL, WITHOUT 
PANEL. WITHOUT FEATURE 06151
-04 OR 06151-05

15 4760106 HANDRAIL,WHEELHOUSING,FRONT,LH,L4RE

15 0069090 HANDRAIL,WHEELHOUSING,FRONT,LH SS

7
To order, contact your Blue Bird Authorized Dealer

PageSet Number



Models: L4RE
HANDRAILS
KIT, HANDRAIL
SALOON LOWER
WHITE

Service Parts Catalog

Key PartNumber Qty Description Comment

340 Stepwells & Handrails
Page Set PS0003740

8
To order, contact your Blue Bird Authorized Dealer

PageSet Number



Models: L4RE
HANDRAILS
KIT, HANDRAIL
SALOON LOWER
WHITE

Service Parts Catalog

Key PartNumber Qty Description Comment

340 Stepwells & Handrails
Page Set PS0003740

1 0069821 HANDRAIL,LOWER,FRNT DR ONLY,LH FRT,35FT" FRONT DOOR ONLY, LH FRONT, 
35FT

2 0069844 HANDRAIL,LOWER,FRNT DR ONLY,LH CTR,35FT FRONT DOOR ONLY, LH CENTER,
35FT

3 0069878 HANDRAIL,LOWER,FRNT DR ONLY,LH RR,35FT" FRONT DOOR ONLY, LH REAR, 
35FT

4 0069888 HANDRAIL,LOWER,FRNT DR ONLY,RH FRT,35FT FRONT DOOR ONLY, RH FRONT, 
35FT

5 0067859 BRACE,HANDRAIL,LH,L4RE

6 0067860 BRACE,HANDRAIL,RH,L4RE

7 4760669 BRACE,HANDRAIL,FRT TOP FC,LH,L4RE

8 4760670 BRACE,HANDRAIL,FRT TOP FC,RH,L4RE

9 4760149 FITTING,HANDRAIL,LONG NECK TEE,PV-3

10 4760151 FITTING,HANDRAIL,CEILING CUP,PV-68

11 4760571 SCREW,CAP,M6X16,SKT ZP

12 4760573 WASHER,FLAT,6MM,YL ZN DICH

13 4760572 WASHER,LOCK,SPLIT RING,6MM,MED,YL ZN 

14 4760387 PLATE CLAMP HANDPOLE STANCHION

15 4763422 FITTING,HANDRAIL,T,WIDE

16 0068245 SCREW,MACHINE,1/4-20 X 3/4 PH PHIL TYPE F,

17 4760148 FITTING,HANDRAIL,FLOOR CUP,PV-29,YELLOW

8
To order, contact your Blue Bird Authorized Dealer

PageSet Number



Models: L4RE
HANDRAILS
KIT, HANDRAIL
SALOON UPPER
WHITE

With: FEATURE 06152-09, -10, -11, -12

Service Parts Catalog

Key PartNumber Qty Description Comment

340 Stepwells & Handrails
Page Set PS0003739

9
To order, contact your Blue Bird Authorized Dealer

PageSet Number



Models: L4RE
HANDRAILS
KIT, HANDRAIL
SALOON UPPER
WHITE

With: FEATURE 06152-09, -10, -11, -12

Service Parts Catalog

Key PartNumber Qty Description Comment

340 Stepwells & Handrails
Page Set PS0003739

1 0067840 HANDRAIL,UPPER,UNIVERSAL,L4RE

1 0069134 HANDRAIL,UPR,UNIV,SS,L4RE

2 0067965 FITTING,HANDRAIL,SUPPORT BENTECH PV

2 0069092 FITTING,HANDRAIL,SUPPORT BENTECH PV

3 4760387 PLATE CLAMP HANDPOLE STANCHION

3 4760387 PLATE CLAMP HANDPOLE STANCHION

4 4760571 SCREW,CAP,M6X16,SKT ZP

4 4760571 SCREW,CAP,M6X16,SKT ZP

5 4760573 WASHER,FLAT,6MM,YL ZN DICH

5 4760573 WASHER,FLAT,6MM,YL ZN DICH

6 4760572 WASHER,LOCK,SPLIT RING,6MM,MED,YL ZN 

6 4760572 WASHER,LOCK,SPLIT RING,6MM,MED,YL ZN 

7 4760149 FITTING,HANDRAIL,LONG NECK TEE,PV-3

7 0069094 HANDRAIL,FITTING,LONG NECK TEE,PV-3SF

8 0068217 PLUG,BUTTON,CAP,BLACK,L4RE,CCF-1 1/4-10

8 0068217 PLUG,BUTTON,CAP,BLACK,L4RE,CCF-1 1/4-10

9
To order, contact your Blue Bird Authorized Dealer

PageSet Number



Models: L4RE
HANDRAILS
KIT, HANDRAIL
SALOON, LOWER
YELLOW OR STAINLESS STEEL

With: FEATURE 06152-09, -11

Service Parts Catalog

Key PartNumber Qty Description Comment

340 Stepwells & Handrails
Page Set PS0003736

10
To order, contact your Blue Bird Authorized Dealer

PageSet Number



Models: L4RE
HANDRAILS
KIT, HANDRAIL
SALOON, LOWER
YELLOW OR STAINLESS STEEL

With: FEATURE 06152-09, -11

Service Parts Catalog

Key PartNumber Qty Description Comment

340 Stepwells & Handrails
Page Set PS0003736

1 0070052 HANDRAIL,LOWER,2 DR,RH,L4RE FEATURE 06152-09

1 0070053 HANDRAIL,LOWER,2 DR,RH,L4RE,SS FEATURE 06152-11

2 0067809 HANDRAIL,LOWER,FRNT DR ONLY,LH,L4RE WITHOUT   30261-01,-02 
YELLOW, FEATURE 06152-09

2 0069131 HANDRAIL,LOWER,FRNT DR ONLY,LH,SS,L4RE WITH  OUT30261-01, -02, S/S, 
FEATURE 06152-11

2 0089032 HANDRAIL,LOWER,LH,WITH RADIO BOX, L4RE

2 0089034 HANDRAIL,LOWER,LH,WITH RADIO BOX,SS, 

3 0067859 BRACE,HANDRAIL,LH,L4RE FEATURE 06152-09

3 0069129 HANDRAIL,BRACE,L.H.,SS,L4RE FEATURE 06152-11

4 4760670 BRACE,HANDRAIL,FRT TOP FC,RH,L4RE FEATURE 06152-09

4 0069179 HANDRAIL,BRACE,FRT TOP FC,RH,SS,L4RE FEATURE 06152-11

5 4760669 BRACE,HANDRAIL,FRT TOP FC,LH,L4RE FEATURE 06152-09

5 0069178 HANDRAIL,BRACE,FRT TOP FC,LH,SS,L4RE FEATURE 06152-11

6 4760149 7 FITTING,HANDRAIL,LONG NECK TEE,PV-3 FEATURE 06152-09

6 0069094 7 HANDRAIL,FITTING,LONG NECK TEE,PV-3SF FEATURE 06152-11

7 4760148 FITTING,HANDRAIL,FLOOR CUP,PV-29,YELLOW FEATURE 06152-09

7 0069096 HANDRAIL,FITTING,FLOOR CUP,PV-29SF FEATURE 06152-11

8 0068245 2 SCREW,MACHINE,1/4-20 X 3/4 PH PHIL TYPE F, FEATURE 06152-09

8 0068245 2 SCREW,MACHINE,1/4-20 X 3/4 PH PHIL TYPE F, FEATURE 06152-11

9 4760151 2 FITTING,HANDRAIL,CEILING CUP,PV-68 FEATURE 06152-09

9 0069098 2 HANDRAIL,FITTING,CEILING CUP,PV-68SF FEATURE 06152-11

10 4760571 4 SCREW,CAP,M6X16,SKT ZP

11 4760573 4 WASHER,FLAT,6MM,YL ZN DICH

12 4760572 4 WASHER,LOCK,SPLIT RING,6MM,MED,YL ZN 

10
To order, contact your Blue Bird Authorized Dealer

PageSet Number



Models: L4RE
HANDRAILS
KIT, HANDRAIL
SALOON, LOWER
YELLOW OR STAINLESS STEEL

With: FEATURE 06152-09, -11

Service Parts Catalog

Key PartNumber Qty Description Comment

340 Stepwells & Handrails
Page Set PS0003736

13 4760387 2 PLATE CLAMP HANDPOLE STANCHION

10
To order, contact your Blue Bird Authorized Dealer

PageSet Number



Models: L4RE
HANDRAILS
KIT, PARTITION WITH CENTER DOOR

With: FEATURE 06152-09, -11

Service Parts Catalog

Key PartNumber Qty Description Comment

340 Stepwells & Handrails
Page Set PS0003735

11
To order, contact your Blue Bird Authorized Dealer

PageSet Number



Models: L4RE
HANDRAILS
KIT, PARTITION WITH CENTER DOOR

With: FEATURE 06152-09, -11

Service Parts Catalog

Key PartNumber Qty Description Comment

340 Stepwells & Handrails
Page Set PS0003735

1 4760113 HANDRAIL,PARTITION,CTR STEP

1 0069135 HANDRAIL,PARTITION,CENTER STEP,SILVER 

2 4760151 FITTING,HANDRAIL,CEILING CUP,PV-68

2 0069098 HANDRAIL,FITTING,CEILING CUP,PV-68SF

3 4760387 PLATE CLAMP HANDPOLE STANCHION

3 4760387 PLATE CLAMP HANDPOLE STANCHION

4 4760571 SCREW,CAP,M6X16,SKT ZP

4 4760571 SCREW,CAP,M6X16,SKT ZP

5 4760573 WASHER,FLAT,6MM,YL ZN DICH

5 4760573 WASHER,FLAT,6MM,YL ZN DICH

6 4760572 WASHER,LOCK,SPLIT RING,6MM,MED,YL ZN 

6 4760572 WASHER,LOCK,SPLIT RING,6MM,MED,YL ZN 

7 0068133 FITTING,HANDRAIL,W/RUBBER INSERT,L4RE,PV

7 0069133 FITTING,HANDRAIL,W/RUBBER INSERT,L4RE,PV

8 0068245 SCREW,MACHINE,1/4-20 X 3/4 PH PHIL TYPE F,

8 0068245 SCREW,MACHINE,1/4-20 X 3/4 PH PHIL TYPE F,

9 4762326 SCREW,PAN HEAD,TAPTITE,1/4”X1”,ZP

9 4762326 SCREW,PAN HEAD,TAPTITE,1/4”X1”,ZP

10 0069980 HANDRAIL,DOOR,CENTER,PARTITION,YEL,L4RE

10 0069698 HANDRAIL,DOOR,CENTER,PARTITION,SS,L4RE

11
To order, contact your Blue Bird Authorized Dealer

PageSet Number



Models: L4RE
LIFT
RAMP, RICON
FOLD OVER, ELECTRICAL  HARNESS AND COMPONENTS

With: FEATURE 31062-02

Service Parts Catalog

Key PartNumber Qty Description Comment

340 Stepwells & Handrails
Page Set PS0003729

12
To order, contact your Blue Bird Authorized Dealer

PageSet Number



Models: L4RE
LIFT
RAMP, RICON
FOLD OVER, ELECTRICAL  HARNESS AND COMPONENTS

With: FEATURE 31062-02

Service Parts Catalog

Key PartNumber Qty Description Comment

340 Stepwells & Handrails
Page Set PS0003729

1 COUNTER WITH HARNESS

2 CONTROLLER ASSEMBLY

3 HARNESS ASSEMBLY, J4

4 HARNESS ASSEMBLY, J1

5 2 SENSOR ASSEMBLY, PROXIMITY

6 JUMPER CABLE

7 KIT, TERMINAL, BLACK WITH HARDWARE

8 KIT, TERMINAL, RED WIRH HARDWARE

9 JUMPER CABLE

10 CIRCUIT BREAKER. 8 AMP

11 SOLENOID ASSEMBLY

12 RELAY

13 KIT, ELECTRICAL, HARNESS, HYDRAULIC PUMP

14 KIT, CONNECTOR WITH PINS

12
To order, contact your Blue Bird Authorized Dealer

PageSet Number



Models: L4RE
LIFT
RAMP, RICON
FOLD OVER, HYDRAULIC COMPONENTS AND FITTINGS

With: FEATURE 31062-02

Service Parts Catalog

Key PartNumber Qty Description Comment

340 Stepwells & Handrails
Page Set PS0003728

13
To order, contact your Blue Bird Authorized Dealer

PageSet Number



Models: L4RE
LIFT
RAMP, RICON
FOLD OVER, HYDRAULIC COMPONENTS AND FITTINGS

With: FEATURE 31062-02

Service Parts Catalog

Key PartNumber Qty Description Comment

340 Stepwells & Handrails
Page Set PS0003728

1 ACTUATOR, ROTARY

2 PUMP ASSEMBLY, HYDRAULIC INCLUDING MOTOR AND 
RESERVOIR

3 2 HOSE ASSEMBLY, HYD, 9 INCH

4 2 VALVE ASSEMBLY, FLOW CONTROL, INCLUDING FITTINGS

5 2 FITTING, STE

6 2 ADAPTER, ORB

7 2 HOSE ASSEMBLY, HYD, 6.25

8 4 ADAPTER, ORB

9 2 FITTING, SNL, 1/4J, STL

10 2 FITTING, BLEEDER

13
To order, contact your Blue Bird Authorized Dealer

PageSet Number



Models: L4RE
LIFT
RAMP, RICON
FOLD OVER, RAMP ASSEMBLY

With: FEATURE 31062-02

Service Parts Catalog

Key PartNumber Qty Description Comment

340 Stepwells & Handrails
Page Set PS0003727

14
To order, contact your Blue Bird Authorized Dealer

PageSet Number



Models: L4RE
LIFT
RAMP, RICON
FOLD OVER, RAMP ASSEMBLY

With: FEATURE 31062-02

Service Parts Catalog

Key PartNumber Qty Description Comment

340 Stepwells & Handrails
Page Set PS0003727

0066175 RAMP,WHEELCHAIR,FOLD OVER,RICON, L4RE CONSISTS OF THE FOLLOWING

1 ACCESS COVER ASSEMBLY WITH HEATER MAT

2 ACCESS COVER ASSEMBLY, WIRE ACCESS 

3 PLATE, WIRE ACCESS

4 SAFETREAD, BLACK

5 3 SAFETREAD, BACLK

6 FLOOR PLATE

7 3 SCREW

8 KIT, ARM ASSEMBLY, RAMP, LH WITH HARDWARE

9 KIT, RAMP AND HINGE ASSEMBLY

10 SAFETREAD

11 SKID PLATE

12 KIT, LIFRING STRAP

13 SPRING NUT, 1/4-20

14 KIT, ARM ASSEMBLY, RMAP, RH, WITH HARDWARE

15 4 WASHER, THRUST, LH OR RH

16 4 BUSHING, FLANGE, LH OR RH

17 KIT, RAMP BUSHING REBUILD, LH OR RH

18 SPANNER WRENCH

19 RECEPTACLE, 1/4-TURN, CLIP-ON, SST

20 SPRING NUT, M5-8, MULTITHRD

21 TOOL, MANUAL DEPLOY

22 KIT, FLOORING TRIM

14
To order, contact your Blue Bird Authorized Dealer

PageSet Number



Models: L4RE
LIFT
RAMP, RICON
FOLD OVER, RAMP ASSEMBLY

With: FEATURE 31062-02

Service Parts Catalog

Key PartNumber Qty Description Comment

340 Stepwells & Handrails
Page Set PS0003727

23 KIT, SAFETREAD AND HEATER MAT

24 HEATER MAT W/ HARNESS

25 COMPONENT ACCESS COVER

14
To order, contact your Blue Bird Authorized Dealer

PageSet Number



Models: L4RE
LIFT
RAMP, RICON
FOLD OVER, ROTARY ACTUATOR ASSY

With: FEATURE 31062-02

Service Parts Catalog

Key PartNumber Qty Description Comment

340 Stepwells & Handrails
Page Set PS0003730

15
To order, contact your Blue Bird Authorized Dealer

PageSet Number



Models: L4RE
LIFT
RAMP, RICON
FOLD OVER, ROTARY ACTUATOR ASSY

With: FEATURE 31062-02

Service Parts Catalog

Key PartNumber Qty Description Comment

340 Stepwells & Handrails
Page Set PS0003730

1 PILLOW BLOCK WITH GREASE FITTING

2 DRIVESHAFT, RAMP

3 KIT, COUPLER WITH HARDWARE

4 ACTUATOR, HYDRAULIC ROTARY

5 KIT, TARGET SENDOW WITH HARDWARE

15
To order, contact your Blue Bird Authorized Dealer

PageSet Number



Models: L4RE
LIFT
RAMP, RICON
FOLD OVER, WHEELCHAIR

With: FEATURE 31062-02

Service Parts Catalog

Key PartNumber Qty Description Comment

340 Stepwells & Handrails
Page Set PS0003726

16
To order, contact your Blue Bird Authorized Dealer

PageSet Number



Models: L4RE
LIFT
RAMP, RICON
FOLD OVER, WHEELCHAIR

With: FEATURE 31062-02

Service Parts Catalog

Key PartNumber Qty Description Comment

340 Stepwells & Handrails
Page Set PS0003726

1 0066175 RAMP,WHEELCHAIR,FOLD OVER,RICON, L4RE

2 0067537 BRACKET ASSY,MTG,FOLD OVER RAMP,PRIMED

3 0068918 SHIM,BRACKET,MOUNTING,FOLD OVER RAMP, 

4 0559195 CAPSCREW,HEX HD,3/8-16 X 1,GR 8,YEL ZN 

5 1107085 WASHER,FLAT,13/32 X 13/16 X 3/32,HDN,BLK

6 0826297 NUT,HEX HD,3/8-16 LOCK,YEL ZN DICH

7 0070241 PANEL,SKIRT,ENTRANCE DOOR,FLIP RAMP,L4RE

8 4760257 BRACKET RAMP FRT SUPPT ASSY

*

16
To order, contact your Blue Bird Authorized Dealer

PageSet Number



Models: L4RE
LIFT
RAMP, RICON
FRONT DOOR

With: FEATURE 31062-01

Service Parts Catalog

Key PartNumber Qty Description Comment

340 Stepwells & Handrails
Page Set PS0003724

NI 4758685 RAMP RICON W37 X L46

NI 4760257 BRACKET RAMP FRT SUPPT ASSY

NI 1078922 WASHER,FLAT,3/8 X 7/8 X 5/64,YEL ZN DICH

NI 1465954 NUT,HEX HD,5/16-18,LK,NYLON INSERT,YEL 

NI 1522713 NUT,HEX HD,3/8-24,LOCK,GR 8,YEL ZNDICH

NI 2001121 WASHER,FLAT,5/16 X 3/4,X 5/64,YEL ZN DICH

NI 2001188 LOCKWASHER,SPLIT RING, 5/16,MED,YEL ZN 

17
To order, contact your Blue Bird Authorized Dealer

PageSet Number



Models: L4RE
LIFT
RAMP, RICON
FRONT DOOR, FINISH KIT

With: FEATURE 31062-01

Service Parts Catalog

Key PartNumber Qty Description Comment

340 Stepwells & Handrails
Page Set PS0003725

18
To order, contact your Blue Bird Authorized Dealer

PageSet Number



Models: L4RE
LIFT
RAMP, RICON
FRONT DOOR, FINISH KIT

With: FEATURE 31062-01

Service Parts Catalog

Key PartNumber Qty Description Comment

340 Stepwells & Handrails
Page Set PS0003725

1 4760539 SAFETY WALK,3M,BLACK 610,12INX60FT ROLL"

2 4760540 SAFETY WALK,3M,YELLOW 630,2INX60FT ROLL"

3 4760983 ANGLE,FINISHER,RICON RAMP PF5 3245,RH

4 4760986 ANGLE,FINISHER,RICON RAMP PF5 3245,LH

5 4760992 12 SCREW,M4X20,OVAL CSNK HD,SST

6 4760985 2 FLOOR,VINYL,RICON RAMP PF5 3245

7 4760984 2 FLOOR,PLY,RICON RAMP PF5 3245

18
To order, contact your Blue Bird Authorized Dealer

PageSet Number




